Ty ST x;ﬁ_ﬁ___________________m_.__________._______..~___._____

e (’%-___________________.____________ m____..________

#Hxaf: FERBEIISFIZAI38

BXFE  REAEFTFEL110238834B5%
(GRCHE G S Y

E5

=4

NEFR

A

2N
FH L, (RR) ZRBR#mAEE -
R¥E - BLohsen BEREA e ZiE

BEBREF L

~HARE THRBE LS

— N HEREBH  A1114£12A20842 21124618188 1L 2%
BE308 - ,

ZAMRENE  AERHAAZE>NBRIIAR IHERER
SRR AR (B ) A FTEERMRE LN E
%48 (https://bit. ly/3FhXuib) BRI LEE T A

»

N

% (7)) Bz s ok 5 FE (

https://bit. ly/3VHAYGt) FHE FHME

= E BB SRR LSRR L s BEER N (B
Z)RUER TERHIZEE 28T K (T) BL
e BB EELNCHEEEN R &, (
https://bit. ly/3uEhRBh) Bl & &3 -

m o~ NFERE AR (8~ W) ZHIEIGR 0 BB R
FHAE c ARREBRANLAHREHREA  REBRALL
RAEBEIH AR IHERRRBBEREEREETR
D ABB LS EF R T HRERLE -

BLthiE 8

1R #*2R

Eir]




"TEARAIHLAFR  FUARPE 2 p I r e (R SRS
Py - T

CRRF 1P EEA 037-559445
¥ ¥ A 037-559173

>\
B - Fﬁﬁ:{i’;ﬁ b BE
- P Z2HIAFFRY
u % 7 / =10 P (% &7 Frivie 82 8L)
111 & 12 ® 22 p () L M3 R
. =z - ¥
4 s e (4 W89 L3 125-1 )
,s L -z 2\5+3ﬁ‘]‘4ﬂi
T 4R / + 10 p= (%a4g? P l112%)
111 # 12 * 23 p(3) ﬁ#&?%‘?
b 48558 S 2R '
4 485 TELE (4 B3R5 S5 T8 1)
o B 2T WERE
{o qe 45 ) N 2 P (#8%47° L 152 8)
111 # 12 % 26 P (=) 23 MEBHE
jw J W TR (% % p8i= k369 52)
- , 2 IMERE
ﬁﬁ]j,\'ﬁ .-'"I IOEF“*: ) 3 3
Birh =€ 2 ¢ LB 2328
111127 28 p (=) (?ﬁlr+guﬁnhu¥)
= B TE2E i

(gEP+ 17 A8 8» 106-2 %)

EHALF A

s 2R ~ A - | == S
Ay | 1112127 29 p (w) | 1= 10pF G s Mt £ 5 32 1)

¥ 5 : : SETARERE
U e R 1 = T :
) 112 # 1 3 (=) TE 2P (5 = B 1 5 13 1)
: : ST 3L
WA T x 9
. 112# 1* 5p(z) i (s ¢ Lg 232 5L)
;;%mﬁ‘ %@755 Fﬁii&?ﬂ%@éﬁ*“u 2&
= I - g (ﬁﬂﬁ.ﬁﬁbi" J'&'312%{)
‘ : DEFE WL R
= AR 2= 10 ’
i 12# 1* 6p(3) i (~4ppmied Hy H R 6-1 %)
i o [ P BRI W A3
} ‘ (BB 35375 4 9 35 98 82
0. , 23 ERE
SRERA =10
7 112# 17 10 p (=) 0 (z Bz BH{T 68 %)
€T R R 2953 AL g

(P87 8%)

AT AT o

<pam | 112 10 1 p(2) | 2= 10 (L ppmhfohs E 4 8)

23 RERE

112# 12 12p(2) TE 2R (3 A# PR3 8)

En ]
8
=




